EARAZROREIERT — 2 N—XBISY —F 20135F786H (£) 7EMAE1H

miﬁ%‘ HZ%R3®LOP (xwlm | mEmml - |y o) s pa
[AE4£] 17 :400,000 8 ~ 23#&:92,000 M 33 :36,000” 437 :20,000MH .~ 57&:12,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . =B :55. -3-1- a1 - WS ()
ilglg|pL>Lyrayy o4 e 1(5_5)4 3-3-1-1 | 38.1 1 (5_(:35) paz 3
R:Er/Oo704 BiFIA MRS J—HrIr—L
o O, S BERD :57. —5-2- . — ekt (1£8)
) P DPRDY AN B4 553.0 1(587)0 5-5-2-2 | 39.2 4 (4_574) FANES i
L:A—I>JU> B:ATJARIANA RS
A 4 5 | WOR 1:57.2 6-6-4-3 |39.3| — 3 498 | EEM (f£E)
3 2 x*>7 56.0 ) 2) || —E =
R:vUILN=—FK B:vA45—7 L=t
., s = RHE#EC : 46— — I (E8)
4 NEEVEE TR 6 e 1.(558).1 4-4-6-5 | 40.2 2 (4_757) e
RiZFrE—HFT—IK B:R-Z-F5> HIMRE Yk
— s NS :58. —7-7- . — THERE (58
slal7|7—nsyoy it 5 ] 1(5:3)9 7-7-7-6 | 39.7 7 (430) ﬁﬁ%gu =1
Lv=NFZAHPF— B:T7y7varlTq— TE FE
. pr— 9, -3 5| — WEEA (f£8)
6 4 VA RIE Y — i O 56.0 1(75?:? SR R 8 ?é? 4 -
L:€r/07aq B:FRU-XT)—h g5 Rig
s A maE% : -8-8- - IWHSE (£8)
71111 | B¥Y /TN 46 ne 2.(0{3.6 8-8-8-8 | 41.2 5 <4+422) s g "
LYy yFTLeTe B T7O0-L2R &k ok
o P BER— : —1-5- — IEEA (ER)
8155|211 RF115— e e 2.(072).0 1-1-5-7 | 44.5 6 (4:322) e
R:TPLERT 4y ITA N BiahINAY A A e
@ 1—F—@&BIEf
13=zr= 5,4,8,3,6,2,7,1
Aol=5r= 5,4,8,3,6,2,7,1
G§a=7r= 8,6,4,2,5,3,7,1
41—+ — 8,6,2,4,3,7,5,1
[ RN
B OB 8 1204 714K 6-8 140H B E 6-8 270M &R 2-6-8 350M
8 B 8 100M 2-8 170 B H 8-6 290 JEH 8-6-2 720
6 130M4 2-6 290M
2 130H4

ABICOVWTRDTEEERROODE. TR LIV,



